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QUESTION 1

Given:

class Student {

String course, name, city;

public Student (String name, String course, String city) {
this.course = course; this.name = name; this.city = city;
}

public String toString() {

return course +":" + name + ":" + city;

}

and the code fragment:

List stds = Arrays.asList(

new Student ("Jessy", "Java ME", "Chicago"),

new Student ("Helen", "Java EE", "Houston"),

new Student ("Mark", "Java ME", "Chicago"));
stds.stream()
.collect(Collectors.groupingBy(Student::getCourse))
forEach(src, res) -> System.out.printin(scr));

What is the result?

A. [Java EE: Helen:Houston] [Java ME: Jessy:Chicago, Java ME: Mark:Chicago]
B. Java EE Java ME

C. [Java ME: Jessy:Chicago, Java ME: Mark:Chicago] [Java EE: Helen:Houston]
D. A compilation error occurs.

Correct Answer: B

QUESTION 2
Given:

class Vehicle {
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int vno;

String name;

public Vehicle (int vno, String name) {
this.vno = vno,;

this.name = name;

}

public String toString () {

return vno + ":" + name;

}

}

and this code fragment:

Set vehicles = new TreeSet ();
vehicles.add(new Vehicle (10123, "Ford"));
vehicles.add(new Vehicle (10124, "BMW"));
System.out.printin(vehicles);

What is the result?

A. 10123 Ford 10124 BMW

B. 10124 BMW 10123 Ford

C. A compilation error occurs.

D. A ClassCastException is thrown at run time.

Correct Answer: D

QUESTION 3

Given:
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publie eclass Job |
String name;
Integer cost;
Job (String nams, Integer cost) {
this.name = name;
this.cost = cost;

}

String getName {) { return name; }

int getCost() { return cost; }

public static void main(Stringl[] args) {
Job jl1 = new Job("IT", null):
DoubleSupplier jS1 = jl::getCost;
System.out.println(jl.getName() + ":" + jSl.getAsDouble());

}
What is the result?
A. IT:null
B. A NullPointerException is thrown at run time.
C. A compilation error occurs.
D. IT:0.0

Correct Answer: D

QUESTION 4

Given the code fragments:

class MyThread implements Runnable {

private static Atomiclnteger count = new Atomiclnteger (0);
public void run () {

int X = count.incrementAndGet();

System.out.print (x+"");

}

}

and
Thread thread1 = new Thread(new MyThread());

Thread thread2 = new Thread(new MyThread());
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Thread thread3 = new Thread(new MyThread());

Thread [] ta = {threadl, thread2, thread3};

for (int x=0; x

ta[x].start();

}

Which statement is true?

A. The program prints 1 2 3 and the order is unpredictable.
B. The program prints 1 2 3.

C. The program prints 1 1 1.

D. A compilation error occurs.

Correct Answer: A

QUESTION 5

Given the code fragment:

public void recDelete (String dirName) throws IOException {
File [] listOfFiles = new File (dirName) .listFiles();
if (listOfFiles ! = null andand listOfFiles.length >0) {
for (File aFile : listOfFiles) {

if (aFile.isDirectory ()) {

recDelete (aFile.getAbsolutePath ());

}else {

if (aFile.getName ().endsWith (".class"))
aFile.delete ();

}

}

}

}

Assume that Projects contains subdirectories that contain .class files and is passed as an argument to the

recDelete () method when it is invoked.
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What is the result?

A. The method deletes all the .class files in the Projects directory and its subdirectories.
B. The method deletes the .class files of the Projects directory only.

C. The method executes and does not make any changes to the Projects directory.

D. The method throws an IOException.

Correct Answer: A
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